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Consider the following statements :

A. Compiler is a translator system
program used to translate high level

language into machine language.

B. Assembler is a translator program
used to translate assembly language

into machine language.

Which of the above statements is/are
correct ?

Select the code for the correct answer
from the options given below :

(1) Only A is correct

(2) Only B is correct

'

Match the memory wunit in the
List I with the value in bytes given by
hardware manufacturers in the List II :

List I List II
(Memory Unit) (Value in bytes
given by
hardware
manufacturers)
A. Kilobyte I 102
B. Megabyte II. 1912
C. Gigabyte III. 13
D. Terabyte IV. 108
V. 1015

Select the code for the correct answer
from the options given below :

o m\MMOMMLShIKargt.qom ;

(4) Neither A nor B is correct

Nibble is a unit of memory. The value of
nibble is

(1) Double of a byte
(2) Half of a byte
(3) Ten times of a byte

(4) Five times of a byte

B-A)

4,

4) I III IV Vv

An ASCII Code

(1) Is the code used to represent each
character.

(2) Includes codes for  English -
alphabets, both capitals and small
alphabets, and also decimal digits.

(3) Includes codes for 32 special
characters and symbols used to
control operations which are not
printable.

(4) All of the above
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An extra bit added to a string of bits that
enables the computer to detect internal

errors in the transmission of binary data

is known as

(1) Parity bit

(2) Byte

(3) Nibble

(4) None of the above

T AT \APY\F ST

binary machine language to symbolic or

assembly languages which allowed
programmers to specify instructions in
the words. Which generation computers

were these ?

(1)

First generation computers

(2)

Second generation computers

(3)

Third generation computers

(4) Fourth generation computers

karat.com

7. Match the following database
management tools (ListI) with their
description (List II) :

List I List IT
(Database (Description)
Management
Tools)
A. dBase I. Oracle database
edition
B. Access Il. One of the first
database
management
systems
C. Personal ITI. Standalone

karat. cqrire=—

management tool
developed by

Microsoft

Select the code for the correct answer

from the options given below :
A B C D
(1) III v I II
(2) II v I III
3) II III I v
4) 1 III v II

(5-A)
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Consider the following statements :

A. Maximum zoom percentage in
MS Word is 500%.

B. Maximum zoom percentage in
MS Excel is 400%.

C. Maximum zoom percentage in
Microsoft PowerPoint 1s 400%.

Which of the above statements is/are
true ?

Select the code for the correct answer

from the options given below:
(1) Aonly

(2) AandB only

(3) Band C only

(4) A,BandC

Match the following actions (List I) with

the key combination (List IT) for Microsoft
PowerPoint :

List I List IT

show

B.Toopenanew II. F5

slide
C. Spell check III. CTRL+M
D.To insert a V. F7
new slide
V. Fii

Select the code for the correct answer
from the options given below :

A B C D
(1) 1II I m 1v
@2 I m 1o Vv
(3) 1O \' I I
(4) 1II I IV I

(7-A)

10. To move forward through the tabs, which

11.

e sl GRS

dialogue box key shortcut is used in
Microsoft Windows ?

(1) CTRL + TAB

(2) CTRL + SHIFT + TAB

(3) SHIFT + TAB

(4)

None of the above

Who is Script Kiddie ?

(1) Someone who subverts computer
security and uses technology for
This
s.@.@ optrol of remote

computer through a network or

software cracking.

ipus frauds and crimes.

(2)

Someone who is wusually not an
expert in computer security and who
breaks into the computer system by

using pre-packaged automotive tools

and existing computer scripts

written by others.

(3) An expert hacker who uses

technology to make a political
declaration. '

(4)

None of the above
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Which of the following statements is/are
true ?

(1) The smallest dot that can be
displayed is pixel.

(2) The number of pixels that can be
displayed vertically and horizontally

gives the maximum resolution of the
monitor.

(3) The

determines the

resolution of the monitor

quality of the
display.

(4) All of the above

TRShiK
A. Visual Basic is an e::ample of high

level language.

B. FORTRAN and COBOL are not high
level languages.

Which of the
correct ?

above statements is/are

Select the correct answer from the options

given below:
(1) Aonly
(2) B only

(83) BothAand B

argt.eom

(4) Neither A nor B

9-A)

14. Consider the following statements :

A. Underscore sign (_) is not

permitted to be used
address.

in email

Blank space is not permitted to be
used in email address.

Which of the above statements is/are
correct ?

Select the code for the correct answer
from the options given below :

(1) Aonly

(2) Bonly

(3) Both A and B
(4) Neither A nor B

versions of

A. Kitkat

B. Marshmallow
C. Lollipop

D. Jellybean

Arrange them in chronological order of
release.

Select the code for the correct answer
from the options given below:

(1) B,ACD

(2) AB,C,D
3) D,AC,B
(4) D,C,A,B
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What does ‘cc and bec stand for in

email ?

1)

2)

(3)

(4)

cc — content copy,

bee — bound carbon copy

cc — correct copy,

bee — branched carbon copy

cc — compare copy, "

bee — best compared copy

cc — carbon copy,

bee — blind carbon copy

Wwww.Sshik

A computer program is/an

)

(2)

(3)

(4)

Notation used to express algorithms

to be understood by computers

Algorithm expressed in a graphical
form without use of accurate
notation

Set of instructions written in

natural language used for general

communication

Algorithm expressed in a

programming language

1)

(2)

3

(4)

(11-A)

List I

(File

Extensions)

.ppt

.pot

xlsx

. xltx

A

II

111

B

1

II1

18. Match the following file extensioﬂs
(List I) with the type of the file (List II) :

List IT
(File Type)

I. PowerPoint .
template

II. PowerPoint
presentation

III. Excel workbook
template

IV. Excel workbook

Select the code for the correct answer

aratcont

C D
III v
II A%
IT I
v I
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Consider the following statements :

A. .org stands for commercial websites.

B. .ac stands for  educational
institution’s websites.

C.

.gov stands for government websites.

Which of the above statements is/are
correct ?

Select the code for the correct answer

from the options given below :
(1) Aonly

(2) A and B only

(3) Band Conly

(4) A,BandC

e WWW . ShiRET

(1) Dynamic Random Access Memory
(2) Digital Random Access Memory
(3) Dynamic Refreshed Access Memory

(4) Digital Refreshed Access Memory

MS-DOS operating system is a

(1) Time sharing operating system
(2) Single user operating system
(3) Distributed operating system

(4) Multi user operating system

22. Go through the following algorithm

carefully :
INTEGER X = 10
INTEGERY =5
INTEGER Z
Z=X+1)+(Y-1)
PRINT THE VALUE OF ‘7’

The value of Z according to the given

algorithm should be

(1) 16

(2) 15

(3) 14

(4) 25

COM

X+Y

Y

(1) OR Gate

(2) AND Gate
(3) NOT Gate
(4) NAND Gate

File name extension indicates
(1) Type of contents of the file
(2) Size of the file

(3) Date and time of creation

(4) Author of the file

(13-A)
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25. Consider the following pairs of acronyms | 27.

Windows Explorer is used to
and their expansion :

26.

171

Select the code for the correct pair among

A. ASCII - American Standard Code

for International Interchange
B. COBOL - Computer
Oriented Language
URL - Universal Resource Locator

D. RISC - Reduced Instruction Set
Computer

Business

C.

‘Which of the above is/are correct ?

above from the options given below :
(1) AandBonly

(2) Conly
(3) B andConly
(4) D only

What is the function of an

perating
o SH Ik
| |

A. Manages computer’s resources very
efficiently

B. Takes care of scheduling jobs for
execution

C. Manages the flow of data and

instructions
D. All of the above
Which of the above statements are

correct ?

Select the code for the correct answer
from the options given below :

(1) A andBonly
(2) B andC only
(3) A, CandD only

(4) A,B,CandD

A. Create a folder
B. Find folders and files

C. Copy files

D. Delete files and folders
Which of the above is correct ?

Select the code for -the correct answer
from the options given below :

(1) AandBonly
(2) B and C only
(3) A, CandD only
(4) A,B,CandD

In data transmission, MODEM is

encoding and decoding device
a rBai ot (i (bbb gt ino

analog

C. Used for converting analog into
digital

D.

Used for handling data streams from

peripheral device to the CPU and
vice versa

Which of the above is/are correct ?

Select the code for the correct answer
from the options given below :

(1) A and B only
(2) BandConly
(3) Conly

(4) A,B,CandD

(15-A)
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Consider the following statements :

A. In MS Excel, each workbook by
default has 3 number of worksheets.

B. In MS Excel, the formulae start with |

=" sign.
C.. In MS Word, a character that is
raised and ' smaller above the
. baseline is called superscript.

Which of the above is/are correct ?

Select the code for the correct answer

" from the options given below :

(1) A and Bonly
(2) B and C only
(3) Conly

(4) A,BandC

I~ trwwshikarat.cor

PowerPoint view.

B. “Transpose” function is used in

MS Excel to display row data in a
column and column data in a row.

C. Shortcut to insert new slide in a
current presentation is CTRL + M.

Which of the above statements is/are
correct ?

Select the code for the correct answer
from the options given below :

(1) Aonly

(2) AandBonly

(3) BandC only

(4) A,BandC

Match  the MS Excel function
key shortcut (ListI) with the
corresponding actions (List II) :
List I List IT
(Function Key (Action)
Shortcut)

A F1 I. Activates the
selected cell for
editing

B. F2 II. Opens the help
menu

C. F4 III. Performs  spell
check in selected
range

D. F7 IV. Repeats last
action

freshes

rkbook.
Performs
calculations on
formula

Select the code for the correct answer

from the options given below :
A B C D
(1) 1II I v III
2) I III \Y v
® vV IV I I

@ o m IV

(17-A)
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Consider the file extension name acronym | 34.
and their expansion :

A.  .png- Portable Network Graphic

B.  .bmp - Bitmap

C. .jpeg — Joint Photographic Experts
Group
D. .gif - Graphics Information Format

Which of the above pairs is/are not
matched correctly ?

Select the code for the correct answer
from the options given below :

(1) AandB only

(2) B and D only

Consider the following statements :

A. The term Pentium is related to the
MiCroprocessor.

B. A website’s main page is called
‘bookmark’.

Which of the above statements is/are
correct ?

Select the code for the correct answer
from the options given below :

(1) A and Bonly
(2) Band C only
(3) Aonly

(4) C only

» M/WW.ShI karatWh@@Mge

(4) Donly

Which of the following is an example of
binary number ?

36.
(1) AIBCDI
(2) 23412
(3) 1011011

(4) All of the above -

(19-A)

anary
(2) Secondary
(3) Tertiary

(4) None of the above

The two kinds of main memory
are

(1) Primary and Secondary
(2) Random and Sequential
(3) RAM and ROM

(4) All of the above
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37. Memory management technique in which

system stores and retrieves data from

secondary storage for use in main
memory is called

(1) Fragmentation
(2) Paging
(3) Mapping

(4) None of the above

Set of rules in a communication network

that governs the transmission of data is

(1) Internet

(2) Host computer

arat.com

0. Debugging is
(1) Typing a program in an editor

(2) Checking a program for errors and

correcting it

(3) Compiling a program

(4) Saving a program

41. Consider the following devices :

A. Modem
B. Gateway

C. Router

o =M\WW.ShiKarat.com

(4) Communication link

statement ?
(1) printf
(2) fprintf

(3) putchar

(4) scanf

Which of the above devices is/are network

devices ?

Select the code for the correct answer

from the options given below :
(1) Aonly

(2) AandConly

(3) Conly

(4) ABandC

21-A)
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How can one set a page border in
MS Excel ?

(1) From Edit menu

(2) From Home

(3) One cannot set a page border in
MS Excel

(4) From Tools menu

In MS Excel, which formula is used for

combining data in two or more different
cells into one cell ?

(1) CONCATENATE .
> comMVWW.SHI
(3) TYPEDEF

(4) INCLUDE

Which of the following devices can store

maximum amount of data ?
(1) Floppy Disk

(2) Hard Disk

(3) Compact Disk

(4) Magnetic-Optic Disk

45. What is the default font size of MS Word

document based on normal template ?

(1) 8pt
(2) 10pt
(3) 12pt

(4) 14 pt

46. Computer viruses are divided into

A. File virus

karat-eom

C. Macro virus
D. Network virus

Which of the above options is/are correct?
Select the code for the correct answer

from the options given below :
(1) AandBonly
(2) A, B,CandD
(3) C and D only

(4) Aonly

23-A)
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In star network topology

A. Each computer is connected to a
central computer

B. Computers are connected through
common straight cable

C. There is point-to-point connection
between every computer

D. There is a single computer

Which of the above options is/are correct ?
Select the code for the correct answer
from the options given below :

(1) AandB only

(2) Aonly
3)
(4) D only

MS Windows and MS DOS systems were
developed during which generation of
computers ?

(1) First Generation
(2) Second Generation
(8) Third Generation

(4) Fourth Generation

karat.com

49. Which one is not a characteristic of an
algorithm ?

(1) Having a start and stop
(2) Each step must be precise
(3) Each step must be unambiguous

(4) Algorithm may or may not
terminate in a finite time

50. Flash Memoryis a
(1) Random Memory
(2) Non-Volatile Memory

(3) Data stored that can be overwritten

(4) All of the above

51. In a hard disk, each track is divided into

" www.shi kat:‘aft o -

Cylinder
(2) Sector
(3) Section
(4) None of the above

52. Which one of the following statement is
incorrect ?

Cache memory is

(1) Placed between RAM and CPU
(2) Accessible to the user

(8) Stores data and instructions
currently to be executed

(4) High speed memory

(25-A)
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lowest reliability.

(1)

(2)

(3)

(4)

The main characteristic(s) of a MAN
(Metropolitan Area Network) is/are

(1)

(2) .

(3)

(4)

www.shikarat.com

53. Identify the network topology with the | 56.

Ring
Star
Tree

Hybrid

Covers a wider geographical area | 57.
than LAN

In relation to MS Word text selection,
which of the following is not correct ?

(1) To select entire document press
CTRL + E

(2) To select whole word, double click

within the word

(3) To select whole paragraph, triple
click within the paragraph

(4) To select several words, drag mouse

over the words

In MS Word, portrait and landscape are
related to

ornfPAPAY L SHNK B @GO 1)

Interconnects LANSs located in a city

All of the above

The five basic network topologies are 58.

(D
(2)
(3)

(4)

Bus, Ring, Star, Tree and Mesh
Ring, Token, Star, Tree and Mesh
Star, Tree, Bar, Bus and Mesh

Bus, Star, Token-ring, Tree and
Mesh

27 -A)

(2) Margins
(3) Headers and Footers

(4) None of the above

In MS Word, paragraph formatting
changes is/are

(1) Indenting
(2) Justifying
(3) Numbering -

(4) All of the above
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Consider the following pairs :
A. World Wide Wep — Tim Berners-Lee
B. C Language - Dennis Ritchie

C. C++ Language — Bjarne Stroustrup

Which of the above pairs is/are correctly
matched ?

Select the code for the correct answer

from the options given below :
(1)  Aonly

(2) A and Bonly
(3) Band Conly
(4) A,BandC

The standard protocols are

61. Which among the following media uses

light as the communication medium ?
(1) Twisted-Pair wiring

(2) Coaxial cable

(3) Fibre optic cable

(4) Satellite transmissions

62. Nudi is a software

(1) Developed by the Government of
Karnataka

(2) Developed and sold by Kannada
‘ Ganaka Parishat

(3) Owned aﬁd distributed free of cost
by Kannada Ganaka Parishat

ooy Appas | AT AT TN

A. TCP/IP - Transmission
Protocol/Internet Protocol

Control

FTP — File Transfer Protocol

C. SMTP - Simple Machine Transfer
Protocol

D. HTTP- Hyper Text Transfer Protocol

Which of the above pairs is/are correctly
matched ?

Select the code for the correct answer
from the options given below :

(1) Aonly

(2) A andBonly

(3) A,BandDonly
(4) A,B,CandD

63. Which of the following is not an input
device ?

(1) Projector

(2) Microphone
(3) OCR

(4) Touch Screen

64. The following option is not available in a
ruler in MS Word :

(1) Left Indent
(2) Right Indent
(8) Centre Indent

(4) Tab stop positions

29-A)
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Consider the following statements for.
MS Word :

A. The Smallest and largest font
available in font size tool on the
formatting toolbar in MS Word is 8
and 72.

B. Grammatical errors are shown in
MS Word in red colour =zigzag
underlined form.

C. Shortcut to insert a page break in a
document is CTRL + Enter.

D. Function key used for spell check in
MS Word is F7.

Which of the above statemental are

correct ?

Select the code for the correct answer

from the options given below :

(1) A, BandD only
(2) AandC only
(3) B and D only

(4) A,B,CandD

66. Consider the following versions of
Microsoft Windows :

A. Windows Vista
B. Windows XP
C. Windows 7

D. Windows ME

Put them in the chronological order of

their release.

Select the correct code for the answer

from the options given below :

(1) D,B,AC
(2) B,ACD
3) AB,CD

ikaratrcom

67. Optical storage devices store data on

(1) An opaque surface so that it can be
read by a beam of laser light

(2) A plastic surface so that it can be
read by a beam of laser light

(8) A magnetic surface so that it can be
read by a beam of laser light

(4) A reflective surface so that it can be
read by a beam of laser light

(31-A)
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BRe3towm wodneY, Toge3ny Taped IO
QUBORIR), SO :

~ pRArVesh kel rat
N s ALY r -ACQ&K#QB snde 9
CTRL + S. '
B. 20.0%°. BFFIQ, ITE PootF N
wﬁa’mﬁd)@d’odé QO0HOE. 72. D0.5°. - wdoi‘moajowsaﬂ@m ﬁ,dw
C. 00.0%°. T FIE TTNE OB 902D NORTECH  BHOEDY womd  [o3T
QTR 1.0". B3RorHd FWTO0E  ndR) et wody
00T BewBregd) o3RO IO ? BRERITD ?
Bpuths sodongd) Jodedns Sweed 3o
5 g = (1) CTRL+K
eVZoNYRY SO :
1 ARRS A% CTRL+D
2) AR B IR, | | . —
A RO C BN

(4) CTRL+H

@A,B;SJS.;C
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68. Which of thw not a

69.

70.
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PowerPoint view 9
(1)  Slide Show View
(2) Slide View

(3) Presentation View
(4) Outline View

In Microsoft PowerPoint, two kinds of

sound effect files that can be added to the
presentation are

(1) .wav and .gif files
(2) .jpgand gif files
(3) .wav and jpg files

(4) .wav and .mid files

Consider the following statements for
MS Word :

a s VMALS R

document is CTRL + S.

B. Default font used in MS Word is
Arial.

C. Default Left Margin in MS Word is
1.0".

Which of the above statements is/are
correct ?

Select the code for the correct answer
from the options given below :

(1) Aonly
(2) AandBeonly

(3) A and C only

4) A,BandC

Ikarat.com

71. Consider the following statements :

A. The chief components of the second

generation computers were vacuum
tubes.

B. The main electronic components
used in the third generation
computers were integrated circuits.

Which of the above statements is/are
correct ?

Select the code for the correct answer
from the options given below :

(1) Aonly
(2) Bonly

aral,.Gom

(4) Neither A nor B

72. How can you select one hyperlink after

another during a slide presentation in
MS PowerPoint ?

(1) CTRL+K
(2) CTRL+D
(3) TAB

(4) CTRL+H

(33-A)
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73. A0dCD oI (I Bey) BRoFRoOR BTT
TBod» AIB) (11 Te3) BROORD :

3 1 &3 11
(R8> Fo3) (3 6&:@ D)
A g0 o g, I ego8 agedt
B (250e) [ORING)
BB WY
XB30000T ST
BB
B. ooxt om0, L @egen
R ( @q_ﬂpe) WOTRON ReT®
. STIoD Hoed
OIS T,
C. moueres e 1L ﬁaga
(ﬁrirae) SI0&E0D
P30T
leleveldj
Bezrg)es
39 Beudxm  wodnivon  Zoodnd
UZTHN FOFEITIO -
A B C
(1) I I o
II I 111

@)1 m I
(m/ 11 I I
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74, 2,00 0O BT TP 279,080 REROw
moF, Roed Fon) FIR,MD
Rosd NI, DFeR 0e800Y, a’m@ﬁ;mﬁd_
g F9AS odns IJoZIZ, WYR B

&% PR, TR Boad e, B T3TOT ?
@ MICR(aiJaagrjlwﬁ‘ QoT* F,TEC” E)Gt‘e"U‘)
7~ OCR (8&8¢° 53,0807 0T’

(3) OMR (&&8e* BRE°F OeRO°)

(4) 983 SeDD

75. B3 FPNTRNYI), BRCOR

53 1 &3 1T
o e
A smdpers I w30n
PRI, FESON”
QBIDF
B. esoeshs 1L - sodond Foses
C. @&o% &3y I gzdoerss
Q0D
D. sgzr e IV. Jgenss
aaiodme;dgl
BBLBOIDIT
o BRIV 'tﬁcﬁ%ﬁ'{?ocﬁ ifslesdrin]
ema’daan xoﬁeSan% :
C D
@ IV B II I
(2) I Im 1
II v I III
(4) 1II v IIT I
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73. Match the name of queuing technique | 74. A bank cheque or bank’s demand draft
(List T) with the method of processing contains characters and numbers printed
(List II) for the following : on it in a special way. Which of the

following techniques is used to read the

characters and numbers ?

List I List IT (1) MICR (Magnetic Ink Character
;Qzeuing (Method of Teaan
echnique) P ;
: B, (2) OCR (Optical Character Reader)
A. FirstIn I. Next item ; k Reader)
First Out (3) OMR (Optical Mar a

retrieved from a

(FIFO) queue is the one .
most recently (@) Lightpen
placed

B. LastIn II. Processing of
First Out jobs on first come ——

(LIFO) first serve basis | 19° Match the following :

C. Garbage In IIL Incorrect input = List I1
yWinEShikaral.co
(GIGO) ; rd eepl the source

formatting

B. Oneofthe II. Editing options
paste options

Select the code for the correct answer C. Findand IIl. Image ~
. replace
from the options given below : D. ClipArt  IV. Holds the copied
P B C contents
Select the code for the correct answer
1 1 I ITI from the options given below :
@) II I III A B C D
' 1) IV I I 1
38 1 I1I II
(2 IV I III 11
@ m 1 O @ oI IV I I
(4) 1II v 111 1
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3% 333G,
4 g3 ¢ vl

76. IP.O%
o
/62@&3:2'{:3@%

(3) 8 i v

(4) 12 e 1 gy

ADSL 202080
(1) SEieusR e Rier ARG G

(2)

717.

LRRWT BT BT S
R BRI RW'E 207 G
LR0BRCRT

RV IWR_Wo*
SR

k7

78, 2wOTH BT EREBTE, Ty =NOW() 0t

80. I e ww% T8TIT zsarf%irao&)ﬁ 1I
Je aiegdab@;ﬁ @@mfﬂi ebéﬂda
SoERIZTI0LITT P folos DAl #oie@fr{#aﬁi
IO eRTO e;mf\%n’@od 40

a3 1 o83 1T
e ed

A. @ IO Yovela s IaRCelel
€30 wo:ejjaf?d.l
RP28RIZT

. 2,000 Wk TRIBAT
DOR) 9T 9T
TFNY SBEOTed
REF 0% WOTVTRY,
RRWROID

ﬁd#a&wmwywvaé H1¥.400 sosmess
0 Q0 | Shlkara@ m@zzniafi@

(1)
/«)/:;,xgw 369

3) BRI Bed Ry 00T Dvosrieh

3305500
QoDT DTOF R BB Wewnsd
Be0moN

79. @0.0%. @FS* 89 =ROUND(10.5,0) 20
R B3 R ) 3B

(1) 10

(@ /105
/@11
- N4) 116

171

TEVRROIT
D. IV. s3nyde w8 c3m
TOIFTII),
w33

V. a%ow

3o &rawdad &SQ‘SJﬁ@OCS
g daaﬁ Noﬁ"eddmbfo
A B C

II III
' IT

v III
@) I \%
IAY

IIT
(4) II \% II1

pfelevdnini

4 <280
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76. IP Address is currently Match the following symbols of the
(1) 4 bytes long flowchart (List I) with what they report

(2) 6 bytes long (List II) :

(3) 8 bytes long
(4) 12 bytes long

List 1 List I1

I. Indicates the
beginning or end of

77. ADSL stands for the program

1 A - - . - -
(1) Automatic Digital Satellite Line B. IL. Indicates a
(2) Asymmetric Digital Satellite Line decision point
o between two or
(3) Asymmetric Digital Subscriber Line more paths in a

(4) Asynchronous Digital Subscriber | flowchart

Line
III. Can represent any
type of data in a

flowchart
78. If we type =NOW() in an Excel cell, we get

(1) Todey} h k L.
s oVVW.Shikar

(3) Current time and today’s date in

IV. Indicates any

O rﬂessing
tion

V. Del

order Sy
(4) Today’s date and current time in |

order Select the correct code from the option

given below :
A B C D
79. The formula =ROUND(10.5,0) in

MS Excel will give the following output : 1 I I m 1
(1 10 (2) II v m v
2) 105
@ @) I \' m 1
8 11
(4 11.6 4) II v V_ II1
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DO NOT OPEN THIS QUESTION BOOKLET UNTIL YOU ARE ASKED TO DO SO
e <
2017
QUESTION BOOKLET
COMPUTER LITERACY

Question Booklet Series

SUBJECT CODE : 171

Maximum Marks : 80

INSTRUCTIONS

; d.iately after the commencement of the Examination, before writing the Question Booklet
es 1n the-: OMR sheet, you should check that this Question Booklet does NOT have any unprinted
or torn or missing pages or questions etc. If so, get it replaced by a complete ‘Question Booklet’ of the
available series.

Write and encode clearly the Question Booklet Series A, B, C or D, Subject Code and
Register Number in the appropriate space provided for that purpose in the OMR Answer
Sheet. Also ensure that candidate’s signature and Invigilator’s signature columns are
properly filled in. Please note that it is candidate’s responsibility to fill in and encode
these particulars and any omission/discrepancy will render the OMR Answer Sheet liable
for Rejection.

3. You have to enter your Register Number in the

e Question Bo t i Proyi ngsi

‘{.}\ DO NOT e on T @IE a

B 4. This Question Booklet contains 80 questions. Eac questlorll contains four responses (answers).
*

Register Number

Select the response which you want to mark on the Answer Sheet. In case you feel that there is more
than one correct response, mark the response which you consider the most appropriate. In any case,
choose ONLY ONE RESPONSE for each question.

5. All the responses should be marked ONLY on the separate Answer Sheet provided and ONLY in
Black or Blue Ball Point Pen. See detailed instructions in the OMR Answer Sheet.

6. All questions carry equal marks. Attempt all questions. Your total marks will depend only on the
number of correct responses marked by you in the Answer Sheet.

T Sheets for rough work are appended in the Question Booklet at the end. You should not make any
marking on any other part of the Question Booklet.

8. Immediately after the final bell indicating the conclusion of the examination, stop making any
further markings in the Answer Sheet. Be seated till the Answer Sheets are collected and accounted
for by the Invigilator.

9. Questions are printed both in Kannada and English. If any confusion arises in the
Kannada Version, please refer to the English Version of the questions. Please note that in
case of any confusion the English Version of the Question Booklet is final.

Use of Mobile Phones, Calculators and other Electronic/Communication gadgets of any kind
is prohibited inside the Examination venue.
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